
    INSTRUCTIONS TO CANDIDATES

 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in 
the Examination Hall.

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding 
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the 
Questions in English.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 
marking your answers.

 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

 12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. No negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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 1. In the following battles, which one is not correctly matched ?
 A) Battle of Tarain : 1191   B) First Battle of Panipat : 1526 
 C) Battle of Wandiwash : 1760 D) Battle of Haldighati : 1581

 2. Arrange the following in chronological order.
 i) Rowlatt Act   ii) Poona Pact 
 iii) Partition of Bengal   iv) Lucknow Pact
 A) ii, i, iv, iii B) iii, ii , iv, i  C) i, iii, iv, ii D) iii, iv, i, ii

 3. Correctly match the following.

    List – I  List – II
 i) Regulating Act of 1773 a) Mayo 
 ii) Subsidiary Alliance System b) Linlithgo 
 iii) Department of Agriculture and Commerce c) Wellesley  
 iv) August Offer d) Warren Hastings
 A) i – d, ii – a, iii – c, iv – b B) i – d, ii – c, iii – a, iv – b
 C) i – a, ii – d, iii – b, iv – c D) i – a, ii – b, iii – d, iv – c

 4. Warsaw Pact came into existence in
 A) 1953 B) 1955 C) 1949 D) 1952 

 5. Match List – I and List – II.

    List – I  List– II
 i) Brahmananda Swami Sivayogi a) Adwaita Chinta Paddhati 
 ii) Sree Narayanaguru b) Acharabhooshanam 
 iii) Chattampi Swamikal c) Streevidya Poshini  
 iv) K.P. Karuppan d) Daiva Deshakam
 A) i – c, ii – d, iii – a, iv – b B) i – d, ii – a, iii – b, iv – c
 C) i – b, ii – a, iii – d, iv – c D) i – a, ii – c, iii – b, iv – d

 6.  Which is the correct chronological sequence of following events ? 
 i) Kurichya Revolt   ii) Attingal Revolt 
 iii) Treaty of Srirangapatanam iv) Martyrdom of Veluthampi  
 A) iii, iv, ii, i B) i, iii, ii, iv C) ii, iii, iv, i D) iv, ii, iii, i

 7. Match List – I and List – II.

    List – I  List – II
 i) Tattvabodhini Sabha a) B.M. Malabari
 ii) Rehnumai Mazdayasan Sabha b) Radhakanta Dev 
 iii) Dharma Sabha c) Debendranath Tagore  
 iv) Seva Sadan d) Naoroji Furdonji
 A) i – c, ii – d, iii – b, iv – a B) i – d, ii – a, iii – b, iv – c
 C) i – c, ii – b, iii – d, iv – a D) i – b, ii – a, iii – c, iv – d
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 1. ¤ßÁ¸® ÷£õºPÎÀ Gx \›¯õP¨ ö£õ¸¢uÂÀø» ?
 A) uõøµß ÷£õº : 1191  B) •uÀ £õÛ£m ÷£õº : 1526
 C) ÁõsiÁõè ÷£õº : 1760 D) íõÀvPõmi ÷£õº : 1581

 2. ¤ßÁ¸ÁÚÁØøÓ Põ»Á›ø\¨£i Á›ø\¨£kzuÄ®.
 i) µÄ»m \mh®   ii) §Úõ J¨£¢u® 
 iii) Á[PõÍ¨ ¤›ÂøÚ   iv) »U÷Úõ J¨£¢u®
 A) ii, i, iv, iii B) iii, ii , iv, i  C) i, iii, iv, ii D) iii, iv, i, ii

 3. ¤ßÁ¸® \›¯õP¨ ö£õ¸zuÄ®.

    £mi¯À – I  £mi¯À – II
 i) 1773 B® Bsiß JÊ[S£kzx® \mh® a) ÷©÷¯õ 
 ii) xønU Tmho Aø©¨¦ b) ¼ß¼z÷Põ 
 iii) ÷ÁÍõsø© ©ØÖ® ÁoPz xøÓ c) öÁÀ»ì¼  
 iv) BPìm BL£º d) Áõµß ÷íìi[ì
 A) i – d, ii – a, iii – c, iv – b B) i – d, ii – c, iii – a, iv – b
 C) i – a, ii – d, iii – b, iv – c D) i – a, ii – b, iii – d, iv – c

 4. Áõº\õ J¨£¢u® |øh•øÓUS Á¢ux
 A) 1953 B) 1955 C) 1949 D) 1952

 5. £mi¯À – I ©ØÖ® £mi¯À – II I ö£õ¸zuÄ®.

    £mi¯À – I  £mi¯À – II
 i) £µ®©õÚ¢u _Áõª ]Á÷¯õQ a) AzøÁzu ]¢uõ £zuõv
 ii) ÿ |õµõ¯nS¸ b) Ba\õµ§ån® 
 iii) \mh®¤ _ÁõªPÒ c) ìvŸÂz¯õ ÷£õæÛ  
 iv) ÷P. ¤. P¸¨£ß d) öu´Á ÷u\P®
 A) i – c, ii – d, iii – a, iv – b B) i – d, ii – a, iii – b, iv – c
 C) i – b, ii – a, iii – d, iv – c D) i – a, ii – c, iii – b, iv – d

 6. ¤ßÁ¸® {PÌÄPÎß \›¯õÚ Põ»Á›ø\ Á›ø\ Gx ?
 i) SÔa]¯õ QÍºa]   ii) Bmi[PÀ QÍºa] 
 iii) ÿµ[P¨£mhn® J¨£¢u® iv) ÷Á¾zu®¤°ß v¯õP®  
 A) iii, iv, ii, i B) i, iii, ii, iv C) ii, iii, iv, i D) iv, ii, iii, i

 7. £mi¯À – I ©ØÖ® £mi¯À – II I ö£õ¸zuÄ®. 

    £mi¯À – I  £mi¯À – II
 i) uzÁ÷£õvÛ \£õ a) ¤.G®. ©»£õ›
 ii) öµðÝ©õ´ ©ìu¯õ\õß \£õ b) µõuõP¢uõ ÷uÆ 
 iii) uº© \£õ c) ÷u÷£¢vµ|õz uõTº  
 iv) ÷\Áõ \uß d) ö|Í÷µõâ L£º÷hõßâ
 A) i – c, ii – d, iii – b, iv – a B) i – d, ii – a, iii – b, iv – c
 C) i – c, ii – b, iii – d, iv – a D) i – b, ii – a, iii – c, iv – d 
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 8. Which of the following things/events are associated with the American War of Independence ?
 i) Boston Tea Party
 ii) Pride’s Purge 
 iii) Declaration of Rights and Grievances 
 iv) May Fourth Movement  
 A) Only ii) and iii)   B) Only i) and iii) 
 C) Only i), iii) and iv)   D) Only i) and ii)

 9. In Mughal Administration, Khan e Saman became the head of
 A) Revenue Administration B) Religious Matters
 C) Royal Household   D)  Military Department

 10. The Travancore University was formed during the reign of 
 A) Gouri Parvati Bhai   B) Sri Mulam Thirunal
 C) Chithira Thirunal Balaramavarma D) Ayilyam Thirunal

 11. Which one of the following is/are requirement for remote sensing  ?
 i) Radiation by energy source
 ii) Interaction of energy with target  
 iii) Transmission, reception and processing 
 iv) Interpretation and analysis 
 A) i) and ii) are correct   B) i) and iii) are correct 
 C) i), ii) and iv) are correct D) All the above are correct 

 12. The scientific discipline that deals with the measurement and representation of the Earth  
 A) Geodesy   B) Cartography 
 C) GIS   D) Photogrammetry

 13. Identify the pair which is correctly matched.
 a) Aravalli Range : Delhi to Ahmedabad
 b) Narmada Valley : Rift Valley  
 c) The Peninsular Plateau : 1600 km 
 d) East Coast :  Kaveri Delta
 A) a and b only   B) b and d only 
 C) c only   D) a, b, c and d

 14. The upper air circulation or system influence the Indian climate is 
 A) EI Nino Effect   B) La Nina Effect 
 C) Jet stream   D) Cyclones

 15. Child sex ratio in Kerala as per the 2011 census is
 A) 964 B) 960 C) 943 D) 948

 16. Goods and Services Tax (GST) came into force in India on
 A) 1st April 2017 B) 1st July 2017 C) 1st April 2015 D) 1st July 2015
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 8. ¤ßÁ¸® Âå¯[PÒ/{PÌÄPÎÀ Gx Aö©›UP _u¢vµ¨ ÷£õ¸hß 
öuõhº¦øh¯x ?

 i) ÷£õìhß j £õºi
 ii) ¨›öhì £ºä 
 iii) öhU»÷µåß BL¨ øµmì Aßk UøµöÁßéì 
 iv) ÷© L÷£õºz ‰Æö©ßm  
 A) (ii & iii) ©mk® B) (i & iii) ©mk® C) (i, iii & iv) ©mk® D) (i & ii) ©mk®

 9. •P»õ¯ {ºÁõPzvÀ Põß C \©ß CuØS uø»ÁµõÚõº
 A) Á¸Áõ´ {ºÁõP®   B) ©u Âå¯[PÒ 
 C) Aµ\ Sk®£®   D) CµõqÁz xøÓ 

 10. CÁµx Bm]°À v¸Âuõ[Tº £ÀPø»UPÇP® E¸ÁõUP¨£mhx 
 A) öPÍ› £õºÁv £õ´  B) ÿ ‰»® v¸|õÒ
 C) ]zvµ v¸|õÒ £»µõ©Áº©õ D) B°À¯® v¸|õÒ

 11. ¤ßÁ¸ÁÚÁØÔÀ Gx ›÷©õm ö\ß][QØS ÷uøÁ 
 i) BØÓÀ ‰»® ÷µi÷¯åß
 ii) C»UShß BØÓ¼ß öuõhº¦  
 iii) £›©õØÓ®, Áµ÷ÁØ¦ ©ØÖ® ö\¯»õUP® 
 iv) ÂÍUP® ©ØÖ® £S¨£õ´Ä 
 A) i ©ØÖ® ii \›¯õÚx   B) i ©ØÖ® iii \›¯õÚx 
 C) i, ii ©ØÖ® iv \›¯õÚøÁ D) ÷©÷» EÒÍ AøÚzx® \›¯õÚøÁ

 12. §ª°ß AÍÃk ©ØÖ® ¤µv{vzxÁzøuU øP¯õÐ® AÔÂ¯À xøÓ 
 A) â÷¯õöhê    B) Põm÷hõUµõL¤
 C) âIGì    D) ÷£õm÷hõQµõö©m›

 13. \›¯õP¨ ö£õ¸¢v¯ ÷áõiø¯U PshÔ¯Ä®. 
 a) BµÁÀ¼ ©ø»zöuõhº : öhÀ¼ •uÀ AP©uõ£õz Áøµ
 b) |º©uõ £ÒÍzuõUS : ›L¨m £ÒÍzuõUS  
 c) ö£Ûß_»º ¥h§ª : 1600 Q.«. 
 d) QÇUS PhØPøµ : Põ÷Á› öhÀhõ
 A) a ©ØÖ® b B) b ©ØÖ® d  C) c ©mk® D) a, b, c ©ØÖ® d

 14. C¢v¯ Põ»{ø»ø¯ £õvUS® ÷©À PõØÖ _ÇØ] AÀ»x Aø©¨¦ 
 A) EI {÷Úõ ÂøÍÄ   B) La {Úõ ÂøÍÄ
 C) öám ìmŸ®   D) `ÓõÁÎPÒ

 15. 2011 ©UPÒ öuõøP PnUöPk¨¤ß£i ÷PµÍõÂÀ SÇ¢øu £õ¼Ú ÂQu® EÒÍx
 A) 964 B) 960 C) 943 D) 948

 16. C¢v¯õÂÀ \µUS ©ØÖ® ÷\øÁ Á› (âGìi) A©¾US Á¢ux
 A) H¨µÀ 1, 2017 B) áüø» 1, 2017 C) H¨µÀ 1, 2015 D) áüø» 1, 2015 
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 17. Consider the following statements :
 i) RBI has the monopoly power of issue of notes and coins of all denominations in India.
 ii) RBI keeps and manages the foreign exchange reserves of India.  
 iii) Open market operations are conducted by RBI via the sale and purchase of 

government securities. 
 iv) During inflation, RBI reduce the Cash Reserve Ratio.
  Which of the above statements is/are correct ?
 A) Only i), ii) and iv)   B) Only ii), iii) and iv) 
 C) Only ii), iii)   D) Only i), iv)

 18. Which of the following is the single largest item of public expenditure in India ?
 A) Interest Payments   B) Salary and Pension
 C) Defence Expenditure   D) Expenditure on Social Services

 19. Consider the following statements :
 i) Direct taxes are those taxes in which impact is on one person and
  incidence on the other person.
 ii) Indirect taxes are those taxes in which impact and incidence are on the
  same person.  
 iii) The burden of indirect taxes can be shifted. 
 Select the correct statements.
 A) Only i), ii)   B) Only iii) 
 C) Only i) and iii)   D) Neither ii) nor iii)

 20. Which Five Year Plan for the first time actually addressed the issue of removal of 
poverty as a prime objective ? 

 A) First Five Year Plan   B) Second Five Year Plan 
 C) Fifth Five Year Plan   D) Fourth Five Year Plan

 21. Which among the following is not a basic objective of creating All India Services ?
 i) Maintenance of law and order
 ii) National unification and nation building  
 iii) Promotion of decentralized governance
 iv) Managing federal polity
 A) i) and iv) B) ii) and iv) C) iii) only D) iv) only

 22. Given below are two statements, one labelled as Assertion (A) and other labelled 
as Reason (R). Select your answer from the codes given below. 

  Assertion (A) : Public Servants are to be free from political bondages in making 
decisions affecting public life.

  Reason (R) : The Public Servants are committed for the implementation of public 
policies approved by the political executive.

 A) Both (A) and (R) are true and (R) is the correct explanation of (A) 
 B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
 C) (A) is true, but (R) is false 
 D) (A) is false, but (R) is true
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 17. ¤ßÁ¸® AÔUøPPøÍU PÁÛ²[PÒ.
 i) C¢v¯õÂÀ EÒÍ AøÚzx ÷|õmkPÒ ©ØÖ® |õn¯[PøÍ öÁÎ°k® 

HP÷£õP AvPõµ® ›\ºÆ Á[Q°h® EÒÍx.
 ii) C¢v¯õÂß A¢{¯a ö\»õÁo øP°¸¨¦PøÍ ›\ºÆ Á[Q øÁzx 

{ºÁQUQÓx.  
 iii) vÓ¢u \¢øu ö\¯À£õkPÒ ›\ºÆ Á[Q¯õÀ Aµ_¨ £zvµ[PÎß ÂØ£øÚ 

©ØÖ® öPõÒ•uÀ ‰»® |hzu¨£kQÓx.
 iv) ›\ºÆ Á[Q £n øP°¸¨¦ ÂQuzøu SøÓUQÓx.
  ÷©÷» EÒÍ TØÖPÎÀ Gx \›¯õÚx?
 A) i, ii, iv ©mk® B) ii, iii, iv ©mk® C) ii, iii ©mk® D) i, iv ©mk®

 18. ¤ßÁ¸ÁÚÁØÔÀ Gx C¢v¯õÂß ö£õxa ö\»ÂÚ[PÎß, JØøÓ¨ ö£›¯ 
ö\»Ä ö£õ¸ÍõS®

 A) Ámi ö\¾zxuÀ   B) \®£Í® ©ØÖ® K´Åv¯®
 C) £õxPõ¨¦ ö\»Ä   D) \‰P ÷\øÁUPõÚ ö\»Ä

 19. ¤ßÁ¸® AÔUøPPøÍU PÁÛ²[PÒ.
 i) ÷|µi Á›PÒ Gß£x J¸ |£º «x uõUP® ©ØÖ® ©ØöÓõ¸ |£º «x HØ£k® 

{PÌÄ.
 ii) ©øÓ•P Á›PÒ Gß£x J÷µ |£º «x uõUP® ©ØÖ® {PÌÄ HØ£k® Á›PÒ BS®. 
 iii) ©øÓ•P Á›PÎß _ø©ø¯ ©õØÓ»õ®. 
 \›¯õÚ AÔUøPPøÍz ÷uº¢öukUPÄ®.
 A) i, ii ©mk®   B) iii ©mk® 
 C) i, iii ©mk®   D) ii AÀ» iii AÀ»

 20. G¢u I¢uõskz vmh® •uß•øÓ¯õP ÁÖø©ø¯ JÈUS® ¤µa]øÚø¯ 
•ußø© ÷|õUP©õPU öPõshx

 A) •uÀ I¢uõsk vmh® B) CµshõÁx I¢uõsk vmh®
 C) I¢uõÁx I¢uõsk vmh® D) |õßPõÁx I¢uõsk vmh®

 21. ¤ßÁ¸ÁÚÁØÔÀ Gx AøÚzx C¢v¯ ÷\øÁPøÍ E¸ÁõUSÁuØPõÚ 
Ai¨£øh ÷|õUP©À»

 i) \mh® ©ØÖ® JÊ[øP £µõ©›zuÀ
 ii) ÷u]¯ J¸ø©¨£õk ©ØÖ® ÷u\zvß {º©õÚ•®  
 iii) £µÁ»õUP¨£mh {ºÁõPzøu ÷©®£kzxuÀ
 iv) Lö£hµÀ ö£õ¼i {ºÁQzuÀ
 A) i ©ØÖ® iv B) ii ©ØÖ® iv C) iii ©mk® D) iv ©mk®

 22. R÷Ç Cµsk AÔUøPPÒ öPõkUP¨£mkÒÍÚ, JßÖ Á¼²ÖzuÀ (A) 
©ØöÓõßÖ Põµn® (R) GÚ Aøh¯õÍªh¨£mkÒÍx. R÷Ç öPõkUP¨£mkÒÍ 
SÔ±kPÎ¼¸¢x E[PÒ £vø»z ÷uº¢öukUPÄ®.  

  Á¼²ÖzuÀ (A) : ö£õx ÁõÌUøPø¯ £õvUS® •iÄPøÍ Gk¨£vÀ Aµ_ 
FÈ¯ºPÒ Aµ]¯À Aiø©zuÚ[PÎÀ C¸¢x Âk£h ÷Ásk®.

  Põµn® (R) : Aµ]¯À {ºÁõPzuõÀ A[RP›UP¨£mh ö£õxU öPõÒøPPøÍ 
ö\¯À£kzxÁuØS Aµ_ FÈ¯ºPÒ EÖv§skÒÍÚº.

 A) (A) ©ØÖ® (R) Cµsk® \›, ©ØÖ® (R) Gß£x (A) Cß \›¯õÚ ÂÍUP®
 B) (A) ©ØÖ® (R) Cµsk® \›, BÚõÀ (R) Gß£x (A) Cß \›¯õÚ ÂÍUP® AÀ»
 C) (A) Gß£x \›, BÚõÀ (R) uÁÓõÚx 
 D) (A) uÁÓõÚx, BÚõÀ (R) \›
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 23. Which among the following is a condition to become a national political party in India ?
 i) It wins atleast two percent (2%) seats in the House of the People and these 

members are elected from atleast three different States.
 ii) It wins atleast five percent (5%) seats in the Council of States.  
 iii) It secures atleast two percent (2%) of the Chief Ministers in any States.
 iv) It secures atleast six percent (6%) of the valid votes polled in the State at a 

general election, either to the House of the People or to the Legislative Assembly 
of the State.

 A) i B) ii C) iii D) iv

 24. Which among the following agency comes under the purview of Right to Information 
Act ? 

 A) Directorate of Revenue Intelligence B) Assam Rifles 
 C) Directorate of Enforcement D) Prime Minister’s Office 

 25. Which among the following statement is not true about Lokpal ? 
 A) Lokpal consists of a Chairperson and eight Members
 B) Among the members of Lokpal, 50% are from Judiciary
 C) The Chairperson and the Members are appointed by Prime Minister
 D) The retirement age of members is 70 years

 26. Who among the following was not in the Drafting Committee of Indian Constitution ?
 A) Jawaharlal Nehru   B) Alladi Krishnaswamy Iyer
 C) B. L. Mitter   D) K. M. Munshi

 27. By which Amendment of the Constitution, Art. 300A was introduced ?
 A) 42nd Amendment   B) 44th Amendment
 C) 64th Amendment   D) 73rd Amendment

 28. Which among the following is not an implication of financial emergency ?
 A) Reduction of salaries and allowances 
 B) Financial bills will be reserved for the consideration of President 
 C) Reduction of salaries of Judges 
 D) Abolition of the post of Finance Minister in States

 29. Which among the following is not a function of Finance Commission of India ? 
 A) To recommend the President of India on distribution between the Union and the 

States of the net tax revenues.   
 B) To recommend the President of India on the principles which should govern the 

grants-in-aid of the revenues of the States. 
 C) To recommend the President of India on the measures to present State finance bills.
 D) To recommend the President of India on the measures needed to increase the 

Consolidated Fund of a State.
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 23. C¢v¯õÂÀ ÷u]¯ Aµ]¯À Pm]¯õP ©õÖÁuØS RÌUPshÁØÔÀ Gx {£¢uøÚ
 i) ©UPÍøÁ°À SøÓ¢u£m\® Cµsk \uÃu (2%) Ch[PøÍ öÁÀ» 

÷Ásk® ©ØÖ® C¢u EÖ¨¤ÚºPÒ SøÓ¢ux ‰ßÖ öÁÆ÷ÁÖ 
©õ{»[PÎÀ C¸¢x ÷uº¢öukUP¨£kQÓõºPÒ.

 ii) ©õ{»[PÍøÁ°À SøÓ¢u£m\® I¢x \uÃu (5%) Ch[PøÍ¨ 
ö£Ó÷Ásk®. 

 iii) SøÓ¢u£m\® Cµsk \uÂQu® (2%) ©õ{» •uÀÁºPøÍ EÒÍhUQÓx.
 iv) ö£õxz ÷uºu¼À ©õ{»zvÀ ö£Ó¨£mh ö\À¾£i¯õS® ÁõUSPÎÀ 

SøÓ¢ux BÖ \uÂQu®  (6%) ©õ{»[PÍøÁ AÀ»x ©õ{»zvß  
\mh©ßÓzvØS¨ ö£Ó÷Ásk®.

 A) i B) ii C) iii D) iv

 24. ¤ßÁ¸® Höáß]PÎÀ Gx uPÁÀ AÔ²® E›ø©a \mhzvß RÌ Á¸QÓx
 A) Á¸Áõ´ ¦»Úõ´Ä C¯US|µP® B) A\õ® øµ¤Òì 
 C) A©»õUP C¯US|µP® D) ¤µu©º A¾Á»P® 

 25. ÷»õU£õÀ £ØÔ¯ ¤ßÁ¸® TØÖPÎÀ Gx Esø© CÀø» 
 A) ÷»õU£õÀ J¸ uø»Áº ©ØÖ® Gmk EÖ¨¤ÚºPøÍU öPõskÒÍx
 B) ÷»õU£õÀ EÖ¨¤ÚºPÎÀ 50% ÷£º }vzxøÓø¯a ÷\º¢uÁºPÒ
 C) uø»Áº ©ØÖ® EÖ¨¤ÚºPÒ ¤µu©µõÀ {¯ªUP¨£kQÓõºPÒ
 D) EÖ¨¤ÚºPÎß K´Ä Á¯x 70 BskPÒ

 26. RÌUPshÁºPÎÀ C¢v¯ Aµ]¯»ø©¨¦ ÁøµÄU SÊÂÀ CÀ»õuÁº ¯õº ?
 A) áÁíº»õÀ ÷|¸   B) AÀ»õi Q¸èn_Áõª I¯º
 C) ¤. GÀ. ªmhº   D) ÷P. G®. •ßæ

 27. Aµ]¯»ø©¨¤ß 300A v¸zu® öPõsk Áµ¨£mhx
 A) 42Áx v¸zu® B) 44Áx v¸zu® C) 64Áx v¸zu® D) 73Áx v¸zu®

 28. ¤ßÁ¸ÁÚÁØÔÀ Gx {v AÁ\µ{ø»°ß SÔ¨¦ AÀ»
 A) \®£Í® ©ØÖ® öPõk¨£ÚÄPøÍ SøÓzuÀ 
 B) {v ©÷\õuõUPÒ áÚõv£v°ß £›^»øÚUS JxUP¨£kuÀ 
 C) }v£vPÎß \®£Ízøu SøÓzuÀ 
 D) ©õ{»[PÎÀ {v¯ø©a\º £uÂø¯ JÈzuÀ

 29. ¤ßÁ¸ÁÚÁØÔÀ Gx C¢v¯ {v Bøn¯zvß ö\¯À£õk AÀ» 
 A) {Pµ Á› Á¸Áõø¯ ³Û¯ß ©ØÖ® ©õ{»[PÐUS Cøh÷¯ Â{÷¯õQ¨£x 

SÔzx C¢v¯ áÚõv£vUS £›¢xøµ ö\´uÀ   
 B) ©õ{»[PÎß Á¸Áõ´UPõÚ ©õÛ¯[PøÍ ÁÇ[P ÷Ási¯ öPõÒøPPÒ 

SÔzx C¢v¯ áÚõv£vUS £›¢xøµ ö\´uÀ
 C) ©õ{» {v ©÷\õuõUPøÍ •ßøÁ¨£uØPõÚ |hÁiUøPPÒ SÔzx C¢v¯ 

áÚõv£vUS £›¢xøµ ö\´uÀ
 D) J¸ ©õ{»zvß J¸[Qøn¢u {vø¯ vµmh ÷uøÁ¯õÚ |hÁiUøPPÒ 

SÔzx C¢v¯ áÚõv£vUS £›¢xøµ ö\´uÀ
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 30. Which among the following terms was not included in the Preamble enacted on 1949 ? 
 A) Sovereign B) Secular C) Democratic D) Republic

 31. The word ‘Snatch’ is associated with
 A) Weightlifting B) Basketball  C) Cricket D) Hockey

 32. The 2018 Winter Olympics was held in  
 A) Canada B) South Korea C) Italy D) Russia

 33. Vimala Devi is an important character in M.T. Vasudevan Nair’s novel
 A) Nalukettu B) Manju C) Kaalam D) Randamoozham

 34. Bharat Gopy won the National Film Award for Best Actor in the film
 A) Yavanika B) Ormakkayi C) Kodiyettam D) Chidambaram

 35. The Nehru Trophy Boat Race is associated with the
 A) Ashtamudi Lake   B) Vellayani Lake 
 C) Veeranpuzha Lake   D) Punnamada Lake 

 36. The pen name of the Malayalam writer V. V. Ayyappan is  
 A) Kovoor B) Kovilan C) Kuttetan D) Kuttipuzha

 37. The 2018 Asian Games was hosted by 
 A) Thailand B) Japan C) South Korea D) Indonesia

 38. The Malayalam film which won the National Award for Best Feature Film in 2019 ?
 A) Bharatham     B) Vanaprastham 
 C) Thanmathra   D) Marakkar : Arabikadalinte Simham

 39. The 2018 Commonwealth Games venue was
 A) Scotland B) Australia C) India D) New Zealand

 40. Which writer won the Jnanpith Award in 2007 ?
 A) O. N. V. Kurup   B) M. T. Vasudevan Nair
 C) S. K. Pottekkatt   D) Akkitham Achuthan Namboothiri

 41. Which is a category of impact printers ?
 A) Inkjet printer   B) Laser Printer
 C) Plotter   D) Dot matrix printer

 42. What is “Social Media Optimization” ?
 A) Writing clear content   
 B) Creating content which easily creates publicity via social networks
 C) Creating short content which is easily indexed   
 D) Create content for social networks

 43. FIFO scheduling is
 A) Fair-share scheduling  B) Non-preemptive scheduling 
 C) Deadline scheduling   D) Preemptive scheduling
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 30. 1949 CÀ C¯ØÓ¨£mh •ßÝøµ°À ¤ßÁ¸® Âv•øÓPÎÀ Cx ÷\ºUP¨ 
£hÂÀø» 

 A) CøÓ¯õsø© B) ©ua\õº£ØÓ C) áÚ|õ¯P® D) Si¯µ_

 31. ‘ìÚõma’ GßÓ Áõºzøu CuÝhß öuõhº¦øh¯x ?
 A) £Ð yUSuÀ B) Tøh¨£¢x C) Q›UöPm D) íõUQ

 32. 2018 SÎºPõ» J¼®¤U ÷£õmiPÒ |øhö£ØÓx  
 A) PÚhõ B) öuß öPõ›¯õ C) Czuõ¼ D) µè¯õ

 33. G®. i. Áõ_÷uÁß |õ¯›ß C¢u |õÁ¼À Â©»õ ÷uÂ J¸ •UQ¯©õÚ 
Puõ£õzvµ®

 A) |õ¾öPmk B) ©g_ C) Põ»® D) µsh‰Ç®

 34. C¢u £hzvÀ |izu £µz ÷Põ¤US ]Ó¢u |iP¸UPõÚ ÷u]¯ Â¸x Qøhzux
 A) ¯ÁÛPõ B) Kº©UPõ´ C) öPõi÷¯mh® D) ]u®£µ®

 35. ÷|¸ iµõ¤ £hS¨ ÷£õmi CuÝhß öuõhº¦øh¯x
 A) Aèh•i H›   B) öÁÒøÍ¯o H› 
 C) Ãµß¦Çõ H›   D) ¦ßÚ©hõ H› 

 36. ©ø»¯õÍ GÊzuõÍº Â.Â. A´¯¨£Ûß ¦øÚ¨ö£¯º GßÚ ?  
 A) ÷PõÅº B) ÷PõÂ»ß C) Sm÷hhß D) Smi¨¦Çõ

 37. 2018 B]¯ ÂøÍ¯õmkPøÍ |hzv¯ |õk 
 A) uõ´»õ¢x B) á¨£õß C) öuß öPõ›¯õ D) C¢÷uõ÷Ú]¯õ

 38. 2019 B® Bsiß ]Ó¢u vøµ¨£hzvØPõÚ ÷u]¯ Â¸øu öÁßÓ ©ø»¯õÍ¨ £h®
 A) £µu®    B) ÁõÚ¨¤µìu® 
 C) uß©õzvµ   D) ©µUPõº : Aµ¤UPh¼ß÷h ]®©®

 39. 2018 Põ©ßöÁÀz ÂøÍ¯õmk |h¢ux G[S
 A) ìPõm»õ¢x B) Bìv÷µ¼¯õ C) C¢v¯õ D) {³]»õ¢x

 40. 2007 À bõÚ¥h Â¸x ö£ØÓ GÊzuõÍº ¯õº ?
 A) O. N. V. S¸¨   B) M. T. Áõ_÷uÁß |õ¯º
 C) S. K. ö£õmhPm   D) AUQu® Aa_uß |®§v›

 41. C®÷£Um ¤›shºPÒ ÁøP Gx ?
 A) CUöám ¤›shº   B) ÷»\º ¤›shº
 C) ¨Íõmhº   D) hõm ÷©m›Uì ¤›shº

 42.  “\‰P FhP EP¨£õUP® ” (Social Media Optimization) GßÓõÀ GßÚ ?
 A) öuÎÁõÚ EÒÍhUPzøu (content) GÊxuÀ   
 B) \‰P Áø»¨¤ßÚÀPÒ ‰»® GÎuõP ÂÍ®£µzøu E¸ÁõUS® 

EÒÍhUPzøu E¸ÁõUSuÀ
 C) GÎvÀ SÔ°h¨£k® (Indexed) SÖQ¯ EÒÍhUPzøu E¸ÁõUSuÀ 
 D) \‰P Áø»¨¤ßÚÀPÐUPõÚ EÒÍhUPzøu E¸ÁõUPÄ®

 43. FIFO vmhªhÀ Gß£x
 A) {¯õ¯©õÚ £[S vmhªhÀ B) •ßöÚa\›UøP AÀ»õu vmhªhÀ
 C) Põ»UöPk vmhªhÀ D) •ßTmi÷¯ vmhªhÀ
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 44.  A device that connects networks that use different protocols
 A) Switch B) Hub C) Gateway D) Proxy Server

 45. Stealing any digital asset or information is listed as a cyber-crime under which 
Section of the IT Act ?

 A) 65 B) 65-D C) 67 D) 70

 46. Global warming can be controlled by
 A) Increasing deforestation, reducing efficiency of energy usage
 B) Reducing deforestation, increasing the use of fossil fuel 
 C) Increasing deforestation, slowing down the growth of human population 
 D) Reducing deforestation, cutting down use of fossil fuel

 47. The main policy goal for The new Science, Technology and Innovation Policy (STI) is
 A) SRISHTI is the main policy goal to led path for India
 B) To translate this action into vision 
 C) A dedicated Policy Research Cell is yet to establish 
 D) AII of the above

 48. Which of the following is not true about Indian Space Research ? 
 A) The first satellite launched in India was Aryabhatta. 
 B) Great Scientist Dr. Vikram Sarabhai is known as the father of Indian Space Research.
 C) ISRO was set up in 1962. 
 D) IRSO reports to Department of Space, India.

 49. Name an Umbrella Programme that was launched in 2007 to promote R & D.
 A) International S & T cooperation 
 B) Scientific Excellence 
 C) Creating and Nurturing S & T Human Resource 
 D) Nano Science & Technology

 50. REDD Plus Programme is concerned with which of the following ? 
 A) Millennium Development Goals (MDG) 
 B) Nuclear Non-proliferation Treaty (NPT)
 C) Convention on Biological Diversity (CBD)   
 D) Earth Summit

 51. If the arithmetic progression whose common difference is non-zero, the sum of first 
3 n terms is equal to the sum of next n terms. Then, find the ratio of the sum of the 
first 2 n terms to the sum of next 2 n terms.

 A) 5 : 1 B) 1 : 5 C) 1 : 10 D) 10 : 1

 52. In a school of 800 students, every student reads 5 newspapers and every newspaper 
is read by 100 students. The number of newspapers is

 A) 20 B) 60 C) 80 D) 40



 101/22 – T

A -13- 

 44. öÁÆ÷ÁÖ ö|Ô•øÓPøÍ¨ £¯ß£kzx® ö|möÁõºUSPøÍ CønUS® \õuÚ®
 A) ìÂa B) í¨ C) ÷Pm÷Á D) ¨µõUê \ºÁº

 45. iâmhÀ ö\õzx AÀ»x uPÁø» v¸kÁx IT \mhzvß G¢u ¤›Âß RÌ 
ø\£º SØÓ©õP £mi¯¼h¨£mkÒÍx ?

 A) 65 B) 65-D C) 67 D) 70

 46. E»P öÁ¨£©¯©õuø» CÆÁõÖ Pmk¨£kzu •i²®
 A) PõhÈ¨ø£ AvP›zuÀ, BØÓÀ £¯ß£õmiß ö\¯ÀvÓøÚU SøÓzuÀ
 B) PõhÈ¨ø£ SøÓzuÀ, ¦øu£iÁ G›ö£õ¸Îß £¯ß£õmøh AvP›zuÀ
 C) PõhÈ¨ø£ AvP›zuÀ, SøÓÁõP ©Ûu ©UPÒöuõøP ÁÍºa]ø¯U SøÓzuÀ
 D) PõhÈ¨ø£U SøÓzuÀ, ¦øu£iÁ G›ö£õ¸Îß £¯ß£õmøhU SøÓzuÀ

 47. ¦v¯ AÔÂ¯À, öuõÈÀ~m£® ©ØÖ® Psk¤i¨¦ öPõÒøP°ß (STI) •UQ¯ 
öPõÒøP C»US

 A) ÿèi Gß£x C¢v¯õøÁ ÁÈ|hzxÁuØPõÚ •UQ¯ öPõÒøP C»US
 B) C¢u ö\¯ø» öuõø»yµ £õºøÁ¯õP ©õØÓ 
 C) J¸ £µz÷¯P öPõÒøP Bµõ´a] ¤›Ä {ÖÁ¨£h  
 D) ÷©÷» EÒÍ AøÚzx®

 48. C¢v¯ ÂsöÁÎ Bµõ´a]°À ¤ßÁ¸ÁÚÁØÔÀ Gx Esø©¯À» ? 
 A) C¢v¯õÂÀ HÁ¨£mh •uÀ ö\¯ØøPU÷PõÒ Bº¯£mhõ BS® 
 B) ]Ó¢u ÂgbõÛ hõUhº ÂUµ® \õµõ£õ´ C¢v¯ ÂsöÁÎ Bµõ´a]°ß 

u¢øu GßÖ AøÇUP¨£kQÓõº
 C) ISRO 1962 CÀ {ÖÁ¨£mhx 
 D) IRSO C¢v¯ ÂsöÁÎz xøÓUS AÔUøP ö\´QÓx

 49. R & D I ÷©®£kzxÁuØPõP 2007 CÀ öuõh[P¨£mh A®¨öµÀ»õ 
vmhzvß ö£¯øµU SÔ¨¤hÄ® ?

 A) \ºÁ÷u\ S & T JzxøÇ¨¦ 
 B) AÔÂ¯À ]Ó¨¦ (Scientific Excellence) 
 C) S & T ©Ûu ÁÍ[PøÍ E¸ÁõUSuÀ ©ØÖ® ÁÍºzuÀ 
 D) |õ÷Úõ AÔÂ¯À & öuõÈÀ~m£®

 50. REDD ¤Íì ¦÷µõQµõ® ¤ßÁ¸ÁÚÁØÔÀ Gøu¨ £ØÔ¯x 
 A) ªÀ¼Û¯® ÁÍºa] C»USPÒ (MDG) 
 B) Aq B²u £µÁÀ uøh J¨£¢u® (NPT)
 C) E°›¯À £ß•Pzußø© £ØÔ¯ ©õ|õk (CBD)   
 D) §ª Ea] ©õ|õk

 51. GsPou •ß÷ÚØÓ® Auß ö£õxÁõÚ ÷ÁÖ£õk §äâ¯® AÀ»õuuõP C¸¢uõÀ, 
•uÀ 3 n ö\õØPÎß TmkzöuõøP Akzu n ö\õØPÎß TmkzöuõøPUS 
\©©õP C¸US®. ¤ÓS, •uÀ 2 n ö\õØPÎß TmkzöuõøPUS® Akzu 2 n 
ö\õØPÎß TmkzöuõøPUS® EÒÍ ÂQuzøuU PshÔ¯Ä®.

 A) 5 : 1 B) 1 : 5 C) 1 : 10 D) 10 : 1

 52. 800 ©õnÁºPÒ £iUS® £ÒÎ°À, JÆöÁõ¸ ©õnÁ¸® 5  ö\´vzuõÒPøÍ¨ 
£iUQÓõºPÒ, JÆöÁõ¸ ö\´vzuõøÍ²® 100 ©õnÁºPÒ £iUQÓõºPÒ. 
ö\´vzuõÒPÎß GsoUøP GÆÁÍÄ ?

 A) 20 B) 60 C) 80 D) 40
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 53. A memorial trust donates Rs.10,00,000 to a school, the interest on which is to be 
used for awarding 3 scholarships to students obtaining first three positions in the 
school examination every year. If the donation earns an interest of 12 per cent per annum 
and the values of the second and third scholarships are Rs. 40,000 and Rs. 25,000 
respectively, find out the value of the first scholarship.

 A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

 54. In a city, 80% of residents have a scar on one eye, 80% on an ear, 75% on an arm, 
85% on a leg and x% have a scar on all the four limbs. The minimum value of x is 

 A) 10 B) 15 C) 20 D) None of these

 55. A housing society consisting of 2,750 people needs 100 L of water per person per day. 
The cylindrical supply tank is 7 m high and has a diameter 10 m. For how many days will 
the water in the tank last for the society ? 

 A) 4 days B) 3 days C) 2 days D) 1 day

 56.  A thief is running away on a straight road with a speed of 8 ms–1. A policeman chases 
him in a jeep moving at a speed of 10 ms–1. If the instantaneous separation of the 
jeep from the motorcycle is 50 m, how long will it take for the policeman to catch the 
thief ?

 A) 25 s B) 20 s C) 50 s D) 30 s

 57. A tea merchant blends two varieties of tea in the ratio of 5 : 4. The cost of first variety 
is Rs. 200 per kg and that of second variety is Rs. 300 per kg. She sells the blended 
tea at the rate of Rs. 250 per kg. Find out the percentage of her profit or loss.

 A) 2.27% loss  B) 2.27% profit C) 5.14% loss D) 5.14% profit

 58. The length and breadth of the floor of a room are 7.5 m and 2 m, respectively. Forty 

tiles, each with area 21
m

16
are used to cover the floor partially. Find the ratio of the 

tiled and the non-tiled portion of the floor. 
 A) 10:1 B) 1:10 C) 5:1  D) 1:5

 59. The average marks of boys in a class is 62 and that of girls is 52. The average marks 
of boys and girls combined is 60. The percentage of boys marks in the class is 

 A) 80 B) 50 C) 60 D) 40

 60. 3 women and 6 men can together finish an embroidery work in 5 days, while 4 women 
and 7 men can finish it in 4 days. The number of days taken by 1 woman  alone to 
finish the work and also that taken by 1 man alone are respectively

 A) 20 and 40 B) 40 and 20 C) 60 and 30 D) 30 and 60 

 61. In the sequence given below, the number after 34 is
  3, 4, 7, 7, 13,13, 21, 22, 31, 34, ? 
 A) 38 B) 40 C) 43 D) 45
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 53. J¸ {øÚÄ AÓUPmhøÍ J¸ £ÒÎUS Rs.10,00,000 |ßöPõøh AÎUQÓx, 
Auß Ámi°À JÆöÁõ¸ Bsk® £ÒÎ ÷uºÂÀ •uÀ ‰ßÖ Ch[PøÍ¨ 
ö£Ö® ©õnÁºPÐUS 3 ìPõ»ºæ¨ £›_PÒ ÁÇ[P¨ £¯ß£kzu¨£k®. 
|ßöPõøh BskUS 12 % Ámiø¯¨ ö£ØÓõÀ, CµshõÁx ©ØÖ® ‰ßÓõÁx 
ìPõ»ºæ¨PÎß ©v¨¦ •øÓ÷¯ Rs. 40,000 ©ØÖ® Rs. 25,000 •uÀ ìPõ»ºæ¨ 
EuÂzöuõøP°ß ©v¨ø£U PshÔ¯Ä®. 

 A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

 54. J¸ |PµzvÀ Á]¨£ÁºPÎß 80% ÷£¸US J¸ Pso¾®, 80% ÷£¸US J¸ 
Põv¾®, 75% ÷£¸US J¸ øP°¾®, 85% ÷£¸US J¸ Põ¼¾® x% ÷£¸US 
©ØÓ |õßS PõÀPÎ¾® uÊ®¦ (ìPõº) EÒÍx. x Cß SøÓ¢u£m\ ©v¨¦

 A) 10   B) 15 
 C) 20   D) CøÁ GxÄªÀø»

 55. 2,750 ÷£º öPõsh Ãmk Á\v \[PzvØS J¸ |£¸US J¸ |õøÍUS  
100 ¼mhº uspº ÷uøÁ¨£kQÓx. E¸øÍ ÁiÁ \¨ø£ ÷h[U 7 m E¯µ® 
©ØÖ® 10 m Âmh® öPõshx. \•uõ¯zvØS öuõmi°À EÒÍ uspº 
GzuøÚ |õmPÐUS C¸US® ? 

 A) 4 days B) 3 days C) 2 days D) 1 day

 56. J¸ v¸hß ÷|µõÚ \õø»°À 8 ms–1 ÷ÁPzvÀ KkQÓõß. J¸ ÷£õ½ìPõµº  
10 ms–1 ÷ÁPzvÀ ö\À¾® ã¨¤À AÁøµz xµzxQÓõº. ÷©õmhõº ø\UQÎÀ C¸¢x 
ã¨ C¸US® yµ® 50 m GÛÀ, PõÁ»º v¸høÚ¨ ¤iUP GÆÁÍÄ ÷|µ® BS® ?

 A) 25 s B) 20 s C) 50 s D) 30 s

 57. J¸ ÷u°ø» Â¯õ£õ› 5: 4 GßÓ ÂQuzvÀ Cµsk ÁøP¯õÚ ÷u°ø»PøÍ 
P»UQÓõº. •uÀ µP® Q÷»õ Rs. 200, CµshõÁx µP® Q÷»õ Rs. 300. P»¨£h 
÷u°ø»ø¯ Q÷»õ Rs. 250 US ÂØQÓõº. AÁÐøh¯ »õ£® AÀ»x |èhzvß  
\uÃuzøuU PshÔ¯Ä®.

 A) 2.27% CÇ¨¦ B) 2.27% »õ£® C) 5.14% CÇ¨¦ D) 5.14% »õ£®

 58. J¸ AøÓ°ß uøµ°ß }Í® ©ØÖ® AP»® •øÓ÷¯ 7.5m ©ØÖ® 2 m. JÆöÁõßÖ® 
21

m
16

£µ¨£ÍÄ öPõsh |õØ£x øhÀì, uøµø¯ KµÍÄ ©øÓ¨£uØS¨ £¯ß 

£kzu¨£kQÓx, uøµ°ß øhÀì ©ØÖ® øhÀì CÀ»õu £Sv°ß ÂQuzøu 
PnUQkQÓx. 

 A) 10:1 B) 1:10 C) 5:1  D) 1:5

 59. J¸ ÁS¨¤À BsPÎß \µõ\› ©v¨ö£sPÒ 62 BPÄ®, ö£sPÎß 
©v¨ö£sPÒ 52 BPÄ® EÒÍx. Bs ©ØÖ® ö£sPÎß \µõ\› ©v¨ö£sPÒ 
60. ÁS¨¤À EÒÍ BsPÎß ©v¨ö£s \uÃu® GÆÁÍÄ ? 

 A) 80 B) 50 C) 60 D) 40

 60. 3 ö£sPÐ® 6 BsPÐ® ÷\º¢x J¸ G®¤µõ´h› ÷Áø»ø¯ 5 |õmPÎÀ •iUP 
•i²®, A÷u ÷|µzvÀ 4 ö£sPÐ® 7 BsPÐ® 4 |õmPÎÀ •iUP •i²®. 
÷Áø»ø¯ •iUP 1 ö£s uÛ¯õP GkzxU öPõsh |õmPÎß GsoUøP²®, 
J¸ Bs uÛ¯õP GkzxU öPõsh |õmPÐ® •øÓ÷¯ 

 A) 20 ©ØÖ® 40 B) 40 ©ØÖ®  20 C) 60 ©ØÖ®  30 D) 30 ©ØÖ®  60

 61. R÷Ç öPõkUP¨£mkÒÍ Á›ø\°À, 34 US¨ ¤ß Á¸® Gs 
  3, 4, 7, 7, 13,13, 21, 22, 31, 34, ? 
 A) 38 B) 40 C) 43 D) 45
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 62. Two signs in the below equation have been interchanged, find out the two signs to 
make the equation correct.

  4 ÷ 10 × 1 + 5 – 2 = 4
 A) ÷ and – B) ÷ and + C) × and + D) × and –

 63. Sonu starts walking towards South. After walking 25 m, she turns towards North. 
After walking 30 m, she turns towards East and walks 20 m. She then turns towards 
South and walks 5 m. How far is she from her original position and in which direction ?

 A) 20 m, West B) 20 m, East C) 10 m, West D) 10 m, East

 64. Find the number that does not fit into the series.
  42, 142, 388, 1252, 5108
 A) 5108 B) 1252 C) 388 D) 142

 65. The numbers 12, 3 and 7 on a clock’s face are joined to form a triangle. The three 
angles of this triangle are

 A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75 

 66. 

8 7 6
8 7 6

88 77
5632 3773 3132

 The number missing from the table is 
 A) 6 B) 66 C) 105 D) 87

 67. In a certain code language, “HAND” is written as “27” and “WORK” is written as “67”. 
How is “BOAT” written in that code language ?

 A) 38 B) 40 C) 36 D) 37

 68. Rachel is mother-in-law of Phoebe. Phoebe is sister-in-law of Ross. Chandler is the 
father of Joey, the only brother of Ross. How is Rachel related to Ross ?

 A) Sister  B) Mother  C) Wife  D) Mother-in-law 

 69. The probability that a leap year selected at random will contain either 53 tuesdays 
or 53 wednesdays is 

 A) 1
7

 B) 2
7

 C) 3
7

 D) 4
7

 70. 
2

134 43

5

1

121 73

5

2

73

5  

  The missing number is
 A) 227 B) 34 C) 250 D) 222
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 62. R÷Ç EÒÍ \©ß£õmiÀ EÒÍ Cµsk SÔ±kPÒ JßÖUöPõßÖ ©õØÓ¨ 
£mkÒÍÚ, \©ß£õmøha \›ö\´ÁuØS Cµsk AÔSÔPøÍU PshÔ¯Ä®

  4 ÷ 10 × 1 + 5 – 2 = 4
 A) ÷ ©ØÖ® – B) ÷ ©ØÖ® + C) × ©ØÖ® + D) × ©ØÖ® –

 63. ÷\õÝ öuØøP ÷|õUQ |hUP Bµ®¤zuõÒ. 25 m |h¢u ¤ÓS, AÁÒ ÁhUS 
÷|õUQ v¸®¤ÚõÒ. 30 m |h¢u ¤ÓS, AÁÒ QÇUS ÷|õUQ v¸®¤ 20 m 
|hUQÓõÒ. AÁÒ öuØS ÷|õUQ v¸®¤ 5 m |hUQÓõÒ. AÁÒ uõß Bµ®¤zu 
{ø»°À C¸¢x GÆÁÍÄ öuõø»ÂÀ C¸UQÓõÒ, G¢u vø\°À C¸UQÓõÒ ?

 A) 20 m, ÷©ØS B) 20 m, QÇUS C) 10 m, ÷©ØS D) 10 m, QÇUS

 64. öuõh›À ö£õ¸¢uõu GsønU PshÔ¯Ä®
  42, 142, 388, 1252, 5108
 A) 5108 B) 1252 C) 388 D) 142

 65. PiPõµzvß •PzvÀ EÒÍ GsPÒ 12, 3 ©ØÖ® 7 BQ¯øÁ J¸ •U÷Põnzøu 
E¸ÁõUSQßÓÚ. C¢u •U÷Põnzvß ‰ßÖ ÷Põn[PÒ

 A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75 

 66. 

8 7 6
8 7 6

88 77
5632 3773 3132

  C¢u AmhÁøn°À Âk£mh Gs GßÚ ? 
 A) 6 B) 66 C) 105 D) 87

 67. J¸ SÔ¨¤mh SÔ±mk ö©õÈ°À, “HAND” Gß£x “27” GßÖ® “WORK” 
Gß£x “67”GßÖ® GÊu¨£mkÒÍx. A¢u SÔ±mk ö©õÈ°À “BOAT”G¨£i 
GÊu¨£mkÒÍx ?

 A) 38 B) 40 C) 36 D) 37

 68. ÷µa\À Gß£Áº L÷£õ¤°ß ©õª¯õº. L÷£õ¤ Gß£Áº ÷µõêß ø©zxÛ 
(sister-in-law). \õsm»º Gß£Áº ÷µõêß J÷µ \÷PõuµµõÚ ÷áõ°°ß u¢øu BÁõº. 
÷µa\À Gß£Áº ÷µõéüUS G¨£i öuõhº¦ ?

 A) \÷Põu›  B) uõ´  C) ©øÚÂ D) ©õª¯õº 

 69. ^µØÓ •øÓ°À ÷uº¢öukUP¨£mh J¸  ½¨ Bsk 53 ö\ÆÁõ´ AÀ»x 53 ¦uß 
QÇø©PøÍU öPõsi¸US® {PÌuPÄ 

 A) 1
7

 B) 2
7

 C) 3
7

 D) 4
7

 70. 
2

134 43

5

1

121 73

5

2

73

5  

  Âk£mh Gsøn Psk¤i.
 A) 227 B) 34 C) 250 D) 222
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 71. Receptionist : “The interviews resume on Monday. Please bring a copy of your resume 

today itself.” (Identify the parts of speech of the underlined words respectively)

 A) noun and adjective    B) noun and verb 

 C) adjective and noun    D) none of these 

 72. The students of our school _______ given a challenging task yesterday. 

 A) were B) was  C) have been  D) none of these 

 73. I have _______ terrible headache now as I could not sleep last night. (Choose the 

suitable article)

 A) a    B) an  

 C) the    D) no article required 

 74. Equanimity is one of the qualities desirable for a successful life. (Choose the word 

which is equivalent to the word underlined)

 A) courage B) calmness C) politeness D) none of these

 75. John was exculpated after a thorough investigation. (Select the word which is opposite 

to the word underlined)

 A) acquitted  B) exonerated  C) vindicated D) none of these

 76. Several old buildings were pulled ________ to construct new ones before the 

Olympics.

 A) off  B) away C) down D) none of these

 77. tiger : tigress : : drake : duck : : ram : ? 

 A) ewe  B) mare  C) stag  D) none of these 

 78. Select the wrongly spelt word(s) from the following :

  1. equilibrium   2. sacrilegious  

 A) 1 only  B) 2 only  C) both D) neither

 79. He is a man who is too ready to believe things. (Replace the underlined part without 

changing the meaning)

 A) is credible B) is deceitful  C) is fraudulent  D) none of these 

 80. Had he been inoculated, effect of the disease________ milder on him. 

 A) had been    B) will have been  

 C) would have been    D) none of these 
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 81. Our students/have/just had their dinner. (Identify the wrong part)

    a b c

 A) a    B) b 

 C) c    D) this is a correct sentence 

 82. He’s scarcely admitted his mistakes, _______ ? (Add a suitable tag question) 

 A) is he  B) has he C) was he  D) none of these 

 83. John _______ (lie) down on the bed for a short time after lunch. (Fill in the blank 

using the appropriate form of the verb in the bracket)

 A) lied  B) lay  C) laid D) none of these 

 84. “Helen is the salt of the earth” means “Helen is very _______”

 A) hard-working  B) honest  C) rich  D) none of these 

 85. Choose another adjective derived from “pure”. 

 A) impure  B) unpure  C) purity  D) none of these 

 86. John became the de facto ruler of England. (The underlined word means) 

 A) actual    B) democratically elected 

 C) hereditary    D) none of these

 87. This medicine was proscribed two years ago. (The underlined word means) 

 A) developed   B) industrially manufactured  

 C) forbidden   D) none of these

 88. Please insist _______ the bill when you make purchases in this supermarket.

  (Choose the suitable preposition)  

 A) with  B) at  C) for  D) none of these 

 89. All schools ________ (disinfect) today in preparation for tomorrow’s re-opening. 

(Choose the most suitable among the following) 

 A) are disinfecting    B) are being disinfected  

 C) disinfected    D) none of these 

 90. Direct speech : – “Helen, when will you arrive here tomorrow ?”, John said

  Indirect speech : – John asked Helen when ________ there the next day.  

(Fill in the blanks)

 A) will she arrive   B) she would arrive

 C) would she arrive   D) none of these
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 91. ‘ö\Êø© + ÷uß ’ GßÓ Cµsk ö\õØPÒ Cøn²® ÷£õx ÷uõßÖ® ö\õÀ

 A) ö\¢÷uß

 B) ö\Ê¢÷uß

 C) ö\Êø©÷uß 

 D) ö\Êø©z÷uß

 92. ‘|õmk¨£ØÖ’ GßÓ ö\õÀø»¨ ¤›zx GÊxP.

 A) |õk + £ØÖ   B) |õmk + £ØÖ

 C) |õmk¨ + £ØÖ   D) |õm + £ØÖ

 93. ‘uº©®’ GßÓ ö\õÀ¼ØS Gvº©øÓa ö\õÀ»õP GøuU SÔ¨¤h»õ® ?

 A) öPõøh   B) ÁÒÍÀußø©

 C) Auº©®   D) CµUP®

 94. Azuõ, Aa\ß, A´¯õ, Bgbõß, u¢øu, u¢÷u, uP¨£ß, Áõ¨£õ ÷£õßÓ  

ö\õØPÎß ö£õ¸øÍ Enºzx® J¸ ö\õÀ

 A) uõ´   B) u¢øu

 C) u®¤   D) Asnß

 95. ‘Blog info’ GßÓ B[Q» ö\õÀ¼ß uªÌ ö©õÈö£¯º¨¦ Gx ?

 A) Áø»¨£vÄ   

 B) Áø»¨£vÄUP¸ÂPÒ

 C) Áø»¨£vÁº   

 D) Áø»¨£vÄ uPÁÀPÒ

 96. ‘Áõ´¨ø£¨£¯ß£kzx’GßÓö£õ¸÷Íõk öuõhº¦øh¯ £Çö©õÈ Gx ?

 1) B£zxUS £õÁ® CÀø» 

 2) BÇ® AÔ¯õ©À Põø» Âhõ÷u

 3) PõØÖÒÍ ÷£õ÷u yØÔUöPõÒ 

 4) BøÚUS® Ai \ÖUS®

 A) 1, 2 \›   B) 2, 3 \› 

 C) 3 ©mk® \›   D) 4 ©mk® \›
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 97. ‘Aµ\ß’GßÓ ö\õÀ¾US Cøn¯õÚ uªÌ ÁÇUSa ö\õÀ Gx ?

 1) ÷Põ, öPõØÓÁß   

 2) PõÁ»ß, ÷Á¢uß

 3) ©ßÚß, µõáõ   

 4) ÷Põß, CøÓ

 A) 1 ©mk® \›   

 B) 1, 2 ©mk® \›

 C) 3, 4 ©mk® \›   

 D) CøÁ¯øÚzx® \›

 98. öuõÀPõ¨¤¯zvÀ SÔ¨¤h¨£k® ‘£»º£õÀ E¯ºvøn¨ ö£¯ºPÒ’ ¯õøÁ ?

 A) AÁß, CÁß, EÁÒ  

 B) AÁÒ, CÁÒ, EÁÒ

 C) AÁº, CÁº, EÁº   

 D) ÷©÷» SÔ¨¤h¨£mhøÁ AøÚzx®

 99. R÷Ç öPõkUP¨£mkÒÍøÁ°¼¸¢x \›¯õÚ ÁõUQ¯ Aø©¨ø£z ÷uº¢öukzx 

GÊxP.

 A) Psnß £ÒÎ ö\ßÓõß.  

 B) Psnß £ÒÎUSa ö\ßÓõß.

 C) Psnß £ÒÎUSa ö\À»¨£mhx.   

 D) Psnß £ÒÎ°À ö\ßÓõß.

 100. R÷Ç SÔ¨¤h¨£k® £ÓøÁPÎß ö£¯ºPÎÀ J¸ø©, £ßø©ø¯ ÂÍUQ 

{ØS® ö\õØPÒ ¯õøÁ ?

 A) ¦Óõ – ¦ÓõUPÒ   

 B) Áõzx – ]mkUS¸Â

 C) S°À – ÷ÁÇõ®£À 

 D) ÷PõÈ – ©°À 
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Space for Rough Work
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Space for Rough Work
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S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100
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          DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

 2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

 4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

 5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

 8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU fo]u]sOoLp]  A\ÿa]\ÿ]q]¨OÐO. CT  
S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV 
BiLqoL¨OÐfV.

 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

 12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
  R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

 13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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